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Math 231 Calculus 1 Fall 21 Sample Midterm 3

(1) Consider the function f(z) defined by the following graph.

5 .hy

%

[ mepae

-

)

><__¥$

N
v
X
(%7

7 y = f(x)
=~ L0 2
. i .
f<e  fhre  ppyco

(a) Label all regions where f'(z) < 0.

(b) Label all regions where f'(z) > 0.

) What is lim, 00 f(7)? =\

) What is lim, o f'(2)? 6

) What is lim, . f"(z)? 0

) Sketch a graph of f’(z) on the figure.

) Sketch a graph of [“, f(t)dt on the figure.

) Label the approximate locations of all points of inflection. ®




B AR Qiw (1) @
: s B Sl A X7 = D
m) Vo Wh(gl a)UwPh\-w Q/(W -t - > T

) o
b ) - @q’ﬁ' (’7”"3 () z0 = a=o & cutiod P”‘\"Jf‘

) ?‘(ﬂ <o wlew 170 ?‘(1j>o T L
0 PEY = e g4 ot () P T IR e € N S
x= 2 /.

-F"/;L) <0 On (""\ﬁ, ) l"ﬁy .

e) (>0 an (*“’,"/ﬁ) amd (Yﬂl“‘)

D) B = Tl 20 5 el wex

R e

@E-S 1 [1 = %Cﬁo—l&)(‘-{o 27('5 = 4'}((15 K)(ZO 1)
\ = g5 + Zoo) %L — o +30(3”‘3

o V() = 4 ( 1 Foa 4 2o )
o TR
Gl P”‘“b ViK)=e A= o I\/%t—q_l?op A 5.657 ..
(1) Y= v 1 1 f_: 1 7 -
/] /H ) A= (3-1) = (z-j) = () +(2-(21—3))
1 1 i
) L G‘—x)+(5_u,§ = ‘t"l—l‘{':«_wf:a"L
/\/ + 10 - 102 {fat
YR L e
AL _ .y = 1 .
A1 = |&x -Q—“f L= < "j e 0 --g_,

) é ‘T s 1
It LAl m e L AL L () - @B (o) (0

[
h 0 = = -
e S Y = "_él@LQ ; 9sme
1 @ = g W
b

aL _ .
b@w’ T s Gi_@th E‘L_‘f bR 76[3\’;/\7’9 ’}1%19 :;\L: _’% %: _}hﬂ(%>

19"V w9 . 9
b e /GHAQD*— /@395 = 2,0-:‘_




QC ay (4, Lt e - 4 b bx- ! 19- 11 no_ ®

a4 ?/,L'L._?;;(_./Lo B ’)(;)‘1 gx - 3 ¢ -1 |12
2
5 : L) 1
b) Lim W e el d —f
o Lx A0 2
| -"12
; = : sl )
C) QAU"" _@_-}- = bw&\ ST R -(:
N9 =1 N |
ke el ol TEo8 ool g
SR o el p -
ICDLS m . =79 %’('Hl) <3 ’?!h __3_
/5 & : -
)l W - PR o e I sy
A= ‘lg - lf'](, LS ’X/T - R=%% |

i . 1 2:%
) liwa JEAT(E%: U /() S (PN i

11'{‘- q{l L ?_
3) fin R A S TP Sl
v el
s " w2 Ty () 3 70 FWOR) (k)
B | e 2R % g v § . XS
W70 ha(Hly) A0 e () My 1. 3, 3 i
P
W b feer Tl oo
o A ;,
Cian EIE T T
A>oh 2% P =

Q}.\J\/\ (j{'t) T _ Q)HM 9_1 (ZX» () QA Y4 e .
1t L /l m} (J‘) ’J(—a— - cas"‘(—ﬂ%) o X :, ZGDS(:TI'L) (—ﬂm(“[[x:)‘ﬂ

R

\ o M v W
L Oonen —3_(6 te te te =~ [|-oU¥

thy 3/ vy 3f 5/
Q% a) \S\’L {—3%’—171: 2”L+31L oo i

e
*h /1




g o
g £ =+L =%
¥ 1%
M )
C’) j 2% Ldm - ’5’1! ] = 11 - 3= 2%
|
A) ~Yn ik
g .4 - ST S, S
B e b e
«
d’) f T [letnl]q = QG (an) -0 (o)
¢ -—l_ L ¢ ko 4 i}.xﬁm: J N da s g (a) <
)fuh‘-a\n Uog = b g’-"ﬂ- leu™ Al L) W()
1 bt
- th\kl(’u')fc
x
o u= w4y _f_ ,\ . ) - lQM %L
SRR i [ % f e > [ 2 o
AL
z )—(L,\\{‘h‘\—tc
W= X - C(I)(MB-{-(—
b\) fﬂm(%)ﬂkl A a gS\M(M) 0\%&‘/\ = ,L-.[ SSW&(%)C{"'\ (-[
5" 5 lq(.ob(%\u.
3
i) ms(lﬂt") A PRTIES S\ A ws(w) A B ;
g %—.m TLE\AM' f'zun(m).&&a
- ,‘lg us(w)dun = .’.isiu(uj% = gl_‘sl'u\ CWL‘ ch
J) S!m(m) b quw;(n) , o
f ’?-L"N\\’\?b ) ‘(\S‘W\i = %E dn = jgw\x GM'STWLL -
z gdv&,b\ € 60‘"’( = 6——@}‘(1 +€ .
v j\@;(ﬂ i u= slin X ) pa - J -5
) M) %:w@t g ¥ wWdm = _.31-(.4 st




Q4

p—

-

—

1[‘6)

o 3
SN X +o = /);0 (D x4 C

WL )= )

wif
R TR ) e HORE
—6
! | : )
2.3 é.(tﬂ)L PN ) ZES

=




